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Since Px = Pz ,
we have rotation symmetry in the x-z plane. -

this channel has covenance: Eccent) = recent for -ey.

&ic, by
so if 147 is the minimum output entropyas6

S (MOE) state- cy/> is also an

xk

MoE state. -> Equivalently, we can choose U so that g = 14X4

always ties in the x-y plane. - 9 = &(1+ xd+yez) where

+y= 1 (Since the state is pure)- ->

So-> E(f) = 1-2 Po-p)9 + Po(XeX+ zez) + p, yey this correspondsto

the block vectors : (2)() +() ()

3() = (1+.) where F = (- <p-

-p,) + p +)



(1 - 24. - 2p,)a
-> = =

( - 4p.)y I ->(F) = D - 2p, - zp(a+ 4-4pjg2

D
= 4 - 2p. - zp,)a+(-4p.)( -e

-> il = ( -40)+ /(1-2p--2 p,)- 1-3p.)]o

A minimum output entropy state has a maximum FI .
So if

D - 2 p- <p)" > (1-4p)" - a = 1 = 1)= (i)
if S D- <P.-zp) = A-sp) - 20 - 147 = (i)

We can simplify (visualize) the conditions as follows :

if a =y-> x = y -> So let os find the curves :

1 - 24- 24 = =( -up)- PP P[
Pa
g

-P = P,

1 - p = 3 -
T

2= e

e= 1

R = 1

x=0 I
S · I

> Po










